Svenska Bridgeférbundet
IAF SM Lag Semifinal 2024 - Match 4:2

IMP o6ver faltet, 60 bord, 120 par. Antal brickor: 12.

Plac

Par

Poang

3.49
3.17
2.58
2.55
2.54
2.49
2.42
241
2.24
2.08
1.96
1.94
1.94
1.93
1.88
1.88
1.84
181
1.78
1.72
1.65
1.59
1.48
1.40
1.37
1.37
1.32
1.24
1.22
1.18
1.17
1.17
1.10
1.06
1.03
0.91
0.88
0.86
0.83
0.75
0.68
0.67
0.66
0.57
0.50
0.49
0.48
0.46
0.34
0.33
0.32
0.24
0.22
0.19
0.19
0.11
0.06
0.02
0.02
0.01
-0.01
-0.02
-0.02
-0.06
-0.11
-0.19
-0.19
-0.22
-0.24
-0.32
-0.33
-0.34
-0.46
-0.48
-0.49
-0.50
-0.57
-0.66
-0.67
-0.68
-0.75
-0.83
-0.86
-0.88
-0.91

Namn

Nicklas Widhja - Stefan Lilja

Urban Finnsson - Bengt-Goran Olofsson
Helena Strémberg - Dan Bylund
Sanna Clementsson - Kathrine Bertheau
Thomas Brehmer - Johan Grénkvist
Goran Selldén - Gote Berntsson

Gullvi Hogberg - Séren Lennartsson
Micael Svensson - Linus Jorner

Leif Andréasson - Rudi Knutson

Jan Clementsson - Peter Fredin
Tatyana Trendafilova - Fredrik Jarlvik
Maria Gronkvist - Catharina Ahlesved
Tomas Bergqvist - Mikael Hjerm
Simon Ekenberg - Per-Erik Malmstréom
Christer Gallstrom - Allan Christensen
Bengt Nilsson - H&kan Lindback
Robert Frank - Anette Svenningsson
Erik Hansson - Castor Mann

Kent Lundstrom - Mattias Forss
Johnny Ostberg - Tommy Gullberg
Alexander Sandin - Thomas Karlsson
Per Larsson - Christian Carlsson

Per Leandersson - Per Leandersson
Eric Arvidsson - Karl Asplund

Urban Mentzer - Peggy Nyholm

Lars Ericson - Per-Erik Jansson
Jorgen Wallmon - Peter Backstrand
Anders Erikson - Nils Ahlén

Lars-Anders Callenberg - Markus Bengtsson

Daniel Eriksson - Adam Stokka

Mats Bud - Mikael Alexandersson
Jons Johansson - Tomas Scott
Thomas Andersson - Johan Bennet
Pg Eliasson - Gunnar Elmroth

Johan Séafsten - Marion Michielsen
Hans Akerman - Henry Franzén

Lars Lundqvist - Mattias Furenbéack
Charlotta Jonsson - Daniel Gustafsson
Peder Oberg - Jonas Dahlgren

Viktor Andréasson - Christian Leo
Daniel Matus - Carsten Kofoed

Olof Bergstréom - Magnus Ekman
Mikael Lindblom - Jan Andersson
Jorgen Lantz - Kaj Toivosson

Berith Finnsson - Tommy Linder
Suzanne Lemborn - Jan Nilsson
Johan Noberius - Sven-Anders Eskilsson
Margot Sivelind - Filip Asplund Sivelind
Mikael Rimstedt - Ola Rimstedt
Anders Fryklund - Valter Johansson
Bonnie Clementsson - Johan Franzén
Kenneth Wallin - Pasi Kallio

Michael Lemborn - Torgild Olsson
Jim Nielsen - Mikael Westerlund
Simon Hult - Leif Bremark

Hakan Litsegard - Staffan Essén
Goran Forss - Arne Klasén

Johan Karlsson - Johannes Matsson
Tomas Gustavsson - Gabor Barath
Conny Gustafsson - Per Andersson
Anders Landmark - Leif Lundberg
Hans Olsson - Bengt Palsson

Martin Johnsson - Jérgen Andersson
Olle Wademark - Tommy Bergdahl
Lena Johansson - Leif Johansson
Bengt Lindskog - Per Hult

Axel Selvén - Jérgen Neldemo
Goran Linerudt - Niclas Johansson
Erik Fryklund - Johnny Blid

Hakan Straaf - Mats Sjoberg

Sara Olofsson - Lennart Bylund
Jan-Olof Henriksson - Erik Bergengren
Tore Stormo - Ylva Strandberg
Henrik Malmsten - Klaus Claassen
Gunnar Sjokvist - Hakan Johansson
Johan Wedin - Johan Pettersson
Michael Olsson - Mats Norhager

Per Rask - UIf Andersson

Leif Olsson - J6rgen Nielsen

Lars Durlow - Jan Becklén

Daniel Gullberg - Tom Gards

Petter Bengtsson - Pierre Thunstrom
Bjorn Wenneberg - Henrik Wegnelius
Peter Forsberg - Nils Andersson
Mikael Johansson - Lisa Bergqvist
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25146
11072
12565
55629
4133
4863
1884
2383
7519
55627
35574
1076
3191
41685
44292
18043
25150
53648
85082
2051
41730
10701
87992
16417
11111
12536
15095
3396
1601
24659
234
6143
15537
2827
35452
15204
6692
86566
14040
89902
90716
1200
5094
1612
12506
14984
655
149
88184
3736
55628
1597
1215
4865
36107
5536
809
32229
607
15363
12813
13278
13345
14800
15309
490
63229
15037
80722
1161
39029
13223
78250
78978
10488
25097
5768
59684
5891
6337
37167
11369
1912
51490
50525

MID

20858
9553
8223

81089
8342

92122
9338

4857
2514
4451
7124
82732
23472
65809
2658
10269
58464
87222
9047
8958
9498
87992
80064
51632
2974
13838
1169
89654
30515
16748
3699
93
8335
53103
12766
34227
89269
84341
577
5868
6926
11704
1673
13938
11991
14182
65755
88183
6210
686
4029
2730
9690
11042
5529
581
52882
916
13326
20271
6272
22136
2181
18448
13220
18660
14128
21205
1198
8234
51648
9217
80176
12954
3411
46709
48309
5840
20525
13002
17974
2050
3543
89691




86 1202 -1.03 Rune Pettersson - Rolf Scherdin 3141 3102
87 E3 -1.06 Per-Inge Helmertz - Arne Jordestedt 1322 4809
88 G202 -1.10 Bjorn Ohlsson - Peter Olofsson 5648 5771
89 Al -1.17 Kjell Hedman - Sten-Sture Gillestrom 2832 6066
90 Q1 -1.17 Anders Dellien - Mikael Olsson 7117 8561
91 Q3 -1.18 Anders Vage - Anders Ihalainen 50378 4892
92 H101 -1.22 Frederic Wrang - David Wrang 8652 87080
93 D303 -1.24 Thomas Axenbratt - Rolf Back 10248 8794
94 M1 -1.32 Peder Linder - Asa Jonsson 18079 91371
95 B302 -1.37 Jonatan Johansson - Dan Waélivaara 62721 9714
96 S203 -1.37 Gunnar Schéfer - Gun-Britt Rindstal 20696 7974
97 B103 -1.40 Gudrun Strandberg - Gunnar Andersson 4143 18507
98 1203 -1.48 Nils-Gustaf Renman - Ove Olofsson 30057 30296
99 Q202 -1.59 Per Magnusson - Magnus Cassel 55622 41676
100 R303 -1.65 Jan Unosson - Tage Bengtsson 8677 1688
101 T102 -1.72 Patrik Elofsson - Sanny Syberfeldt 28614 40054
102 T303 -1.78 Karl-Erik Backelin - Kent Rorqvist 24959 2491
103 H103 -1.81 Pierre Carbonnier - Hakan Tjarnemo 5538 5534
104 E2 -1.84 Hans Velin - Lars-Erik Johansson 1179 4770
105 N303 -1.88 Torgny Andersson - Conny Kling 42578 6771
106 M202 -1.88 Niklas Warne - Krister Ahlesved 15344 13995
107 J102 -1.93 Hans Kvick - Per-Arne Karlsson 2878 1246
108 A202 -1.94 Lars-Goran Ostlund - Bo Ericson 2995 2962
109 D302 -1.94 Lennart Johansson - Petra Svantesson 13145 15294
110 02 -1.96 Agneta Svahn - Pia Olofsson 626 599
111 G3 -2.08 Peter Johansson - Lars Kjellersson 245 1163
112 R101 -2.24 Leif Lysebring - Lars Wallmark 10391 6908
113 T301 -2.41 Andreas Westman - Tobias Bern 23603 66187
114 R102 -2.42 Lars-Erik Moberg - Andrzej Luczynski 8593 81105
115 C3 -2.49 Jim Albertsson - Christer Wingard 3924 3925
116 C2 -2.54 Bengt Lundberg - Kjell Glans 7466 15295
117 S202 -2.55 Anna Syberfeldt - Tommy Ranta-Mikkula 40068 7338
118 B101 -2.58 Sven-Erik Hallkvist - Carina Hallkvist 12984 6161
119 L302 -3.17 Johan Berglund - Leif Rangevall 89140 10493
120 N301 -3.49 Per-Ake Ellnebro - Emma Karlsson 20270 58290
13 4« K85 Basta kontrakt 14 498643 Basta kontrakt
Nord v EK109762 5¢ O =-600 Ost v EKKn2 4% S D -2 -300
Alla +98 Ingen +94
&8 & ¢ v & NT #83 & ¢ v &N
a2 « EKn10973 N326 32 «ED 4 Knl1075 N8 4454
v 84 v DKn S32632 vD10765 843 S 85554
¢ EKD7653 ¢4 O 8 115 9 6 410873 ¢ KDKn 0588709
#EKn3 *K765 vV 8 115 9 6 &EK #1096 V58879
« D64 & K2
v53 v9
¢ Knl102 ¢ E652
#D10942 #DKn7542
Par Kontr Ut Res Poéng Par Kontr Ut Res Poang
Q1 Q201 54 O-3 v3 300 579.0 -579.0 K1 K201 4vDV -2 »8 300 501.0 -501.0
M2 M202 64 O-3 v7 300 579.0 -579.0 F101 F301 34 S= v3 110 276.0 -276.0
L102 L302 3NV-3 vA 300 579.0 -579.0 A2 A202 4vyDV -1 +9 100 264.0 -264.0
M1 M201 44 O -2 v3 200 481.0 -481.0 E2 E202 4v V-2 43 100 264.0 -264.0
E2 E202 54 O -2 v5 200 481.0 -481.0 B102 B302 4vDV-1 »8 100 264.0 -264.0
M3 M203 44 O -2 v5 200 481.0 -481.0 H102 H302 4vDO-1 8 100 264.0 -264.0
T103 T303 44 O-2 v5 200 481.0 -481.0 P102 P302 4vDV-1 »8 100 264.0 -264.0
K1 K201 44 O-1 v5 100 372.0 -372.0 B103 B303 34 O-2 *Q 100 264.0 -264.0
G2 G202 44 O-1 v5 100 372.0 -372.0 Al A201 2& S = v5 90 250.0 -250.0
S2 S202 5¢ V-1 vK 100 372.0 -372.0 Gl G201 3v V-1 »8 50 187.0 -187.0
A3 A203 34 O-1 v5 100 372.0 -372.0 11 1201 3v V-1 »8 50 187.0 -187.0
C3 C203 44 O-1 v3 100 372.0 -372.0 S3 S203 2v V-1 +9 50 187.0 -187.0
13 1203 44 O -1 va 100 372.0 -372.0 N101 N301 4v V-1 49 50 187.0 -187.0
S3 S203 44 O-1 v3 100 372.0 -372.0 D102 D302 4v V-1 43 50 187.0 -187.0
D101 D301 5¢ V-1 vA 100 372.0 -372.0 F102 F302 3v V-1 8 50 187.0 -187.0
N101 N301 4 V-1 v5 100 372.0 -372.0 L102 L302 3v V-1 »8 50 187.0 -187.0
T101 T301 5¢ V-1 vA 100 372.0 -372.0 R102 R302 4v V-1 a7 50 187.0 -187.0
B102 B302 44 O-1 v5 100 372.0 -372.0 R103 R303 3v V-1 «8 50 187.0 -187.0
D102 D302 5¢ V-1 vA 100 372.0 -372.0 T103 T303 4v V-1 »8 50 187.0 -187.0
F103 F303 44 O-1 v5 100 372.0 -372.0 c2 C202 3+ S-1 .7 -50 55.0 -55.0
R103 R303 34 O-1 v6 100 372.0 -372.0 C1 C201 3&S-2 v5 -100 -34.0 34.0
o1 0201 24 O +1 v5 -140 125.0 -125.0 El E201 24 S-2 A -100 -34.0 34.0
J101 J301 34 O= v5 -140 125.0 -125.0 S2 S202 34 N-2 v4 -100 -34.0 34.0
L101 L301 34 O= v5 -140 125.0 -125.0 N103 N303 3# S-2 v6 -100 -34.0 34.0
A2 A202 4¢ V +1 vA -150 125.0 -125.0 o1 0201 2v V= 49 -110 -43.0 43.0
Q2 Q202 3¢ V+2 vA -150 125.0 -125.0 Q1 Q201 2v V= »3 -110 -43.0 43.0
03 0203 4¢ V +1 vK -150 125.0 -125.0 S1 S201 2v V= «8 -110 -43.0 43.0
P101 P301 3¢ V +2 vA -150 125.0 -125.0 M2 M202 2v V= »8 -110 -43.0 43.0
R101 R301 4¢ V+1 vA -150 125.0 -125.0 E3 E203 2v V= 49 -110 -43.0 43.0
H102 H302 4¢ O+1 +3 -150 125.0 -125.0 13 1203 2v V= «8 -110 -43.0 43.0
N103 N303 4¢ V +1 vK -150 125.0 -125.0 H101 H301 2v V= »8 -110 -43.0 43.0
P103 P303 4¢ V+1 vA -150 125.0 -125.0 R101 R301 2v V= +9 -110 -43.0 43.0
Cc2 C202 34 O+1 &T -170 95.0 -95.0 T101 T301 2v V= 8 -110 -43.0 43.0
F101 F301 3vDN-2 +3 -500 -268.0 268.0 N102 N302 2v V= »8 -110 -43.0 43.0
Al A201 5¢ O= vA -600 -379.0 379.0 P103 P303 2v V= »8 -110 -43.0 43.0
C1 C201 5¢ V= vK -600 -379.0 379.0 C3 C203 1INV +1 vK -120 -63.0 63.0
El E201 5¢ V= vA -600 -379.0 379.0 F103 F303 1INV +1 vA -120 -63.0 63.0
Gl G201 5¢ V= vA -600 -379.0 379.0 M1 M201 3v V= *6 -140 -100.0 100.0
11 1201 5¢ V= vA -600 -379.0 379.0 G2 G202 3v V= 8 -140 -100.0 100.0
S1 S201 5¢ V= vK -600 -379.0 379.0 12 1202 2v V +1 »8 -140 -100.0 100.0
12 1202 5¢ V= vK -600 -379.0 379.0 K2 K202 3v V= vA -140 -100.0 100.0
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K2 K202 5¢ V= vA -600 -379.0 379.0 02 0202 3v V= &8 -140 -100.0 100.0
02 0202 5¢ V= vK -600 -379.0 379.0 G3 G203 2v V+1 &9 -140 -100.0 100.0
G3 G203 5¢ V= vA -600 -379.0 379.0 M3 M203 3v V= &8 -140 -100.0 100.0
K3 K203 5¢ V= vA -600 -379.0 379.0 B101 B301 2v V +1 +9 -140 -100.0 100.0
Q3 Q203 5¢ V= vA -600 -379.0 379.0 D101 D301 3v V= L Y] -140 -100.0 100.0
H101 H301 5¢ V= vK -600 -379.0 379.0 J101 J301 2v V+1 &8 -140 -100.0 100.0
F102 F302 5¢ V= vA -600 -379.0 379.0 L101 L301 2v V+1 &8 -140 -100.0 100.0
J102 J302 5¢ V= vK -600 -379.0 379.0 P101 P301 2v V+1 L Y] -140 -100.0 100.0
N102 N302 5¢ V= vK -600 -379.0 379.0 D103 D303 3v V= a3 -140 -100.0 100.0
P102 P302 5¢ V= vA -600 -379.0 379.0 J103 J303 2v V+1 &8 -140 -100.0 100.0
R102 R302 5¢ V= vA -600 -379.0 379.0 L103 L303 3v V= a9 -140 -100.0 100.0
T102 T302 5¢ V= vA -600 -379.0 379.0 Q2 Q202 2NV +1 &8 -150 -104.0 104.0
B103 B303 5¢ V= &8 -600 -379.0 379.0 Q3 Q203 1INV +2 46 -150 -104.0 104.0
D103 D303 5¢ V= &8 -600 -379.0 379.0 J102 J302 24 N-3 +K -150 -104.0 104.0
H103 H303 5¢ V= vA -600 -379.0 379.0 T102 T302 24 S-3 &K -150 -104.0 104.0
J103 J303 5¢ V= vA -600 -379.0 379.0 H103 H303 44D S -2 &A -300 -316.0 316.0
L103 L303 5¢ V= vA -600 -379.0 379.0 A3 A203 3NV = L Y] -400 -435.0 435.0
E3 E203 3NV +3 +9 -690 -484.0 484.0 K3 K203 3vDV= &8 -530 -567.0 567.0
B101 B301 3NV +4 v2 -720 -491.0 491.0 03 0203 3vDV= &8 -530 -567.0 567.0
15 & KD87643 Basta kontrakt 16 D4 Basta kontrakt
Syd v DKn965 6y S =1430 Vast v KKn6 6& N =920
NS +9 oV + E85
&»- & ¢ v & NT #D9532 & ¢ v & NT
4Kn92 &E10 N 8 10121110 4985 & KKn762 N 127 8 7 11
v72 v 83 S 8 10121111 vD10743 v982 S 127 8 7 11
¢ Kn642 ¢ K103 053122 ¢+ KDKn9 410763 016561
#7632 #K109854 V53122 »4 &K V16561
a5 «E103
v EK104 vE5
+ ED875 42
&EDKn &#EKNn10876
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
L101 L301 7#D O -8 a5 2000 776.0 -776.0 R102 R302 6N N = v9 990 640.0 -640.0
Cc2 C202 6N S= &3 1440 277.0 -277.0 N101 N301 6# N = v6 920 581.0 -581.0
Al A201 6v S= &3 1430 277.0 -277.0 Al A201 3N N +3 a2 490 22.0 -22.0
C1 C201 6v N= A 1430 277.0 -277.0 El E201 3N N +3 a2 490 22.0 -22.0
E1l E201 6v N= &9 1430 277.0 -277.0 Gl G201 3NN +3 a2 490 22.0 -22.0
Gl G201 6v S= &3 1430 277.0 -277.0 11 1201 3N N +3 a2 490 22.0 -22.0
11 1201 6v N = &7 1430 277.0 -277.0 Q1 Q201 3NN +3 a2 490 22.0 -22.0
K1 K201 6v S= v3 1430 277.0 -277.0 S1 S201 3NN +3 46 490 22.0 -22.0
o1 0201 6v N= &9 1430 277.0 -277.0 A2 A202 3N N +3 a2 490 22.0 -22.0
S1 S201 6v S= &3 1430 277.0 -277.0 C2 C202 3NN +3 a2 490 22.0 -22.0
A2 A202 6v N= v8 1430 277.0 -277.0 G2 G202 3NN +3 a2 490 22.0 -22.0
G2 G202 6v S= &3 1430 277.0 -277.0 12 1202 3N S +3 a9 490 22.0 -22.0
12 1202 6v S= &3 1430 277.0 -277.0 02 0202 3N N +3 a2 490 22.0 -22.0
K2 K202 6v N = v8 1430 277.0 -277.0 S2 S202 3NN +3 46 490 22.0 -22.0
M2 M202 6v N = &9 1430 277.0 -277.0 A3 A203 3N N +3 a2 490 22.0 -22.0
Q2 Q202 6v S= &2 1430 277.0 -277.0 C3 C203 3N N +3 a2 490 22.0 -22.0
S2 S202 6v S= &6 1430 277.0 -277.0 13 1203 3N N +3 v8 490 22.0 -22.0
A3 A203 6v N= v3 1430 277.0 -277.0 M3 M203 3N N +3 a2 490 22.0 -22.0
G3 G203 6v N= &3 1430 277.0 -277.0 F101 F301 3N N +3 &3 490 22.0 -22.0
13 1203 6v S = &4 1430 277.0 -277.0 H101 H301 3NN +3 v9 490 22.0 -22.0
K3 K203 6v N= v3 1430 277.0 -277.0 L101 L301 3N N +3 a2 490 22.0 -22.0
M3 M203 6v N = v3 1430 277.0 -277.0 R101 R301 3N N +3 a2 490 22.0 -22.0
S3 S203 6v N= v3 1430 277.0 -277.0 B102 B302 3N N +3 a2 490 22.0 -22.0
J101 J301 6v N= v8 1430 277.0 -277.0 J102 J302 3N N +3 a2 490 22.0 -22.0
N101 N301 6v N = v8 1430 277.0 -277.0 L102 L302 3NN +3 a3 490 22.0 -22.0
T101 T301 6¥ N= +3 1430 277.0 -277.0 N102 N302 3NN +3 46 490 22.0 -22.0
D102 D302 6v N= v3 1430 277.0 -277.0 P102 P302 3N N +3 a2 490 22.0 -22.0
F102 F302 6v N = A 1430 277.0 -277.0 B103 B303 3N N +3 &6 490 22.0 -22.0
H102 H302 6v S= &3 1430 277.0 -277.0 D103 D303 3NN +3 a2 490 22.0 -22.0
L102 L302 6v N= v8 1430 277.0 -277.0 F103 F303 3N S +3 46 490 22.0 -22.0
N102 N302 6v N = &9 1430 277.0 -277.0 H103 H303 3NN +3 a2 490 22.0 -22.0
P102 P302 6v N = v8 1430 277.0 -277.0 L103 L303 3N N +3 v9 490 22.0 -22.0
B103 B303 6v N= &6 1430 277.0 -277.0 P103 P303 3N S +3 v3 490 22.0 -22.0
D103 D303 6v N= +3 1430 277.0 -277.0 T103 T303 3N S +3 v3 490 22.0 -22.0
F103 F303 6v N= v8 1430 277.0 -277.0 Cl C201 3NN +2 a2 460 -36.0 36.0
H103 H303 6v N= v2 1430 277.0 -277.0 K1 K201 3N N +2 v9 460 -36.0 36.0
J103 J303 6v N= T 1430 277.0 -277.0 o1 0201 3N S +2 v3 460 -36.0 36.0
L103 L303 6v N= s A 1430 277.0 -277.0 K2 K202 3N S +2 *+K 460 -36.0 36.0
N103 N303 6v S= v2 1430 277.0 -277.0 G3 G203 3N S +2 +K 460 -36.0 36.0
R103 R303 6v S= v7 1430 277.0 -277.0 Q3 Q203 3NN +2 v2 460 -36.0 36.0
T103 T303 6¥ N= &8 1430 277.0 -277.0 B101 B301 3NN +2 v9 460 -36.0 36.0
M1 M201 5v N +1 &8 680 -401.0 401.0 D101 D301 3NS+2 +K 460 -36.0 36.0
E2 E202 4v N +2 v6 680 -401.0 401.0 P101 P301 3N S +2 *+K 460 -36.0 36.0
02 0202 4v S+2 &3 680 -401.0 401.0 N103 N303 3NN +2 v9 460 -36.0 36.0
Q3 Q203 5v S+1 &3 680 -401.0 401.0 S3 S203 5# N +2 v3 440 -92.0 92.0
H101 H301 5v S+1 a2 680 -401.0 401.0 J103 J303 5& N +2 a2 440 -92.0 92.0
B102 B302 5v N +1 &T 680 -401.0 401.0 M1 M201 3N S +1 *+K 430 -94.0 94.0
D101 D301 44 N +1 v3 650 -410.0 410.0 M2 M202 3N S +1 +K 430 -94.0 94.0
R101 R301 44 N +1 &9 650 -410.0 410.0 Q2 Q202 3NN +1 +6 430 -94.0 94.0
R102 R302 44 N +1 v8 650 -410.0 410.0 E3 E203 3N S +1 +3 430 -94.0 94.0
Q1 Q201 6NS-1 &3 -100 -798.0 798.0 K3 K203 3N S +1 +K 430 -94.0 94.0
E3 E203 6N N -1 &3 -100 -798.0 798.0 03 0203 3NS+1 +K 430 -94.0 94.0
03 0203 6NN-1 &9 -100 -798.0 798.0 J101 J301 3NS+1 +K 430 -94.0 94.0
B101 B301 64 N-1 v8 -100 -798.0 798.0 D102 D302 3NS+1 +Q 430 -94.0 94.0
F101 F301 7v N-1 A -100 -798.0 798.0 H102 H302 3N S +1 +Q 430 -94.0 94.0
P101 P301 7v N-1 & A -100 -798.0 798.0 T102 T302 3NS+1 *+K 430 -94.0 94.0
C3 C203 7vDN-1 s A -200 -827.0 827.0 R103 R303 3NS+1 LY 430 -94.0 94.0
J102 J302 7¢DS-1 +3 -200 -827.0 827.0 T101 T301 5# N +1 a2 420 -97.0 97.0
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P103 P303 7vDN-1 aA -200 -827.0 827.0 F102 F302 5& N +1 v4 420 -97.0 97.0
T102 T302 7ND S -2 v7 -500 -951.0 951.0 E2 E202 5& S = *K 400 -153.0 153.0
17 « DKn9764 Basta kontrakt 18 4 K1073 Basta kontrakt
Nord vE5 54 N =450 Ost vKn 3v O =-140
Ingen +10 NS ¢ 972
#DKn93 & ¢ v & NT #KD982 & ¢ v o NT
410832 «E N 8 6 101110 4DKn862 44 N9 5376
vK864 w7 S 8 6 111110 v E985 v D10642 S9537€6
+82 + KD76543 037213 + E53 + K864 O4 89 66
#K54 #10762 V37213 *6 #Knl107 V48966
& K5 4 E95
v DKn10932 v K73
¢+ EKn9 + DKn10
&E8 &E543
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
S2 S202 5¢DO -4 vQ 800 608.0 -608.0 12 1202 3N S = a2 600 636.0 -636.0
B102 B302 5¢D O -4 vQ 800 608.0 -608.0 E3 E203 3N S= a2 600 636.0 -636.0
A3 A203 4¢DO-3 oK 500 299.0 -299.0 03 0203 3NS= v8 600 636.0 -636.0
T103 T303 5¢DO-3 oK 500 299.0 -299.0 F101 F301 3NS= 4Q 600 636.0 -636.0
K2 K202 3N S +2 +8 460 255.0 -255.0 L102 L302 3NS= a2 600 636.0 -636.0
N102 N302 3N S +2 +6 460 255.0 -255.0 J103 J303 3NS= a2 600 636.0 -636.0
L103 L303 44 N +1 *K 450 253.0 -253.0 D102 D302 4vDV -2 vJ 300 398.0 -398.0
Q2 Q202 3NN +1 +8 430 202.0 -202.0 Q2 Q202 2N S +1 46 150 224.0 -224.0
Al A201 4v S= +8 420 200.0 -200.0 02 0202 4% S= 4Q 130 202.0 -202.0
C1 C201 44 N= *6 420 200.0 -200.0 A3 A203 2# S +2 4Q 130 202.0 -202.0
E1l E201 4v S= +8 420 200.0 -200.0 13 1203 3& S +1 a2 130 202.0 -202.0
11 1201 44 N= +K 420 200.0 -200.0 K3 K203 3# S +1 a2 130 202.0 -202.0
Q1 Q201 44 N= *+K 420 200.0 -200.0 T101 T301 3& S+1 4Q 130 202.0 -202.0
A2 A202 44 N= *K 420 200.0 -200.0 H101 H301 INN+1 v4 120 192.0 -192.0
E2 E202 44 N= +K 420 200.0 -200.0 N103 N303 1NN +1 a4 120 192.0 -192.0
12 1202 44 N = *6 420 200.0 -200.0 Gl G201 3% S= *6 110 170.0 -170.0
M2 M202 44 N= *K 420 200.0 -200.0 S1 S201 3#S= vA 110 170.0 -170.0
E3 E203 44 N= +K 420 200.0 -200.0 E1l E201 4y O-2 +Q 100 160.0 -160.0
Q3 Q203 44 N= *6 420 200.0 -200.0 M2 M202 4vDO-1 *+Q 100 160.0 -160.0
S3 S203 44 N= *K 420 200.0 -200.0 N101 N301 4vDO-1 +Q 100 160.0 -160.0
D101 D301 44 N= +K 420 200.0 -200.0 G2 G202 INN-= a4 90 148.0 -148.0
F101 F301 4v S= +3 420 200.0 -200.0 11 1201 4v O-1 +Q 50 99.0 -99.0
J101 J301 44 N= *K 420 200.0 -200.0 A2 A202 3v O-1 +Q 50 99.0 -99.0
L101 L301 44 N= +K 420 200.0 -200.0 B101 B301 4v O-1 +Q 50 99.0 -99.0
N101 N301 44 N= *K 420 200.0 -200.0 P101 P301 3v O-1 *+Q 50 99.0 -99.0
T101 T301 44 N= *K 420 200.0 -200.0 B102 B302 24 V-1 vJ 50 99.0 -99.0
H102 H302 44 S= *2 420 200.0 -200.0 F102 F302 4v V-1 &K 50 99.0 -99.0
L102 L302 4v S= +8 420 200.0 -200.0 L103 L303 4v O-1 *+Q 50 99.0 -99.0
P102 P302 44 N= *K 420 200.0 -200.0 T103 T303 1e V= vJ -80 -65.0 65.0
T102 T302 44 N= +K 420 200.0 -200.0 K1 K201 34 N-1 v2 -100 -101.0 101.0
D103 D303 44 N= *K 420 200.0 -200.0 o1 0201 3NS-1 v8 -100 -101.0 101.0
P103 P303 44 N= *K 420 200.0 -200.0 E2 E202 3NS-1 v5 -100 -101.0 101.0
R103 R303 44 N= +K 420 200.0 -200.0 S2 S202 3NN-1 v4 -100 -101.0 101.0
Gl G201 3NS= +8 400 164.0 -164.0 S3 S203 3NN-1 vA -100 -101.0 101.0
F102 F302 3NS= +8 400 164.0 -164.0 D101 D301 3NS-1 v7 -100 -101.0 101.0
N103 N303 3N S = +8 400 164.0 -164.0 J101 J301 3NS-1 v8 -100 -101.0 101.0
H101 H301 3¢D O -2 vQ 300 38.0 -38.0 H102 H302 3NS-1 v5 -100 -101.0 101.0
H103 H303 4¢DO-2 vQ 300 38.0 -38.0 J102 J302 3NS-1 v3 -100 -101.0 101.0
o1 0201 34 N +2 *K 200 -108.0 108.0 N102 N302 3NS-1 v5 -100 -101.0 101.0
02 0202 4¢ O-3 aK 150 -168.0 168.0 T102 T302 54 S-1 4Q -100 -101.0 101.0
K1 K201 4v S-1 +8 -50 -392.0 392.0 B103 B303 3NN-1 46 -100 -101.0 101.0
M1 M201 44 S-1 *2 -50 -392.0 392.0 D103 D303 3N S-1 v8 -100 -101.0 101.0
S1 S201 4v S-1 +8 -50 -392.0 392.0 M1 M201 3v O= A -140 -148.0 148.0
Cc2 C202 44 N-1 +5 -50 -392.0 392.0 Q1 Q201 3v V= vJ -140 -148.0 148.0
G2 G202 4v S-1 +8 -50 -392.0 392.0 C3 C203 3y O= *J -140 -148.0 148.0
C3 C203 4v S-1 +8 -50 -392.0 392.0 Q3 Q203 2v O +1 A -140 -148.0 148.0
G3 G203 4v S-1 +8 -50 -392.0 392.0 L101 L301 3v O= A -140 -148.0 148.0
13 1203 4v S-1 +8 -50 -392.0 392.0 P102 P302 3v O= +Q -140 -148.0 148.0
K3 K203 4v S-1 +9 -50 -392.0 392.0 R102 R302 3v V= &K -140 -148.0 148.0
M3 M203 54 N-1 *K -50 -392.0 392.0 R103 R303 3v V= vJ -140 -148.0 148.0
03 0203 4v S-1 +8 -50 -392.0 392.0 Cc2 C202 3v O+1 *J -170 -199.0 199.0
B101 B301 4v S-1 +6 -50 -392.0 392.0 P103 P303 5& N -2 a4 -200 -233.0 233.0
P101 P301 4v S-1 +8 -50 -392.0 392.0 F103 F303 44 N-4 v6 -400 -448.0 448.0
R101 R301 54 N-1 +K -50 -392.0 392.0 R101 R301 4v O = +Q -420 -474.0 474.0
D102 D302 4v S-1 +8 -50 -392.0 392.0 H103 H303 44 N-5 *J -500 -542.0 542.0
R102 R302 3NS-1 +8 -50 -392.0 392.0 Al A201 4vDO= +Q -590 -607.0 607.0
B103 B303 5v S-1 +6 -50 -392.0 392.0 C1 C201 4vDO= A -590 -607.0 607.0
J102 J302 4v S-2 +9 -100 -469.0 469.0 K2 K202 4vDO= +Q -590 -607.0 607.0
F103 F303 4v S-2 +8 -100 -469.0 469.0 G3 G203 4vDO= +Q -590 -607.0 607.0
J103 J303 4v S-2 +8 -100 -469.0 469.0 M3 M203 4vDO = +Q -590 -607.0 607.0
19 sE Basta kontrakt 20 «ED Basta kontrakt
Syd v 98742 3v S =140 Vast v K63 6v N =1430
ov + D10985 Alla ¢ EKn7
#Kn3 & ¢ v & NT #ED1084 & ¢ v & NT
496532 41087 N49 967 4107643 «K9 N 117 129 9
vE5 v KD6 S49977 v92 v EKn7 S 107 119 9
K ¢ Kn43 O7 4 46 4 K42 + 1098653 026142
#K10964 #8752 V74464 &KKn7 »96 V26243
& KDKn4 & Kn852
v Kn103 v D10854
¢ E762 +D
&ED &532
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
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K1 K201 3N S +1 *4 430 394.0 -394.0 13 1203 3N N +3 *7 690 224.0 -224.0
Q2 Q202 3NN +1 vK 430 394.0 -394.0 K3 K203 3N N +3 oK 690 224.0 -224.0
K3 K203 3N S +1 *9 430 394.0 -394.0 S2 S202 4v N +2 +9 680 220.0 -220.0
Q3 Q203 3NS+1 *4 430 394.0 -394.0 E3 E203 4v N +2 *T 680 220.0 -220.0
B101 B301 3NS+1 *6 430 394.0 -394.0 T101 T301 4v N +2 *T 680 220.0 -220.0
N101 N301 3N S +1 46 430 394.0 -394.0 B102 B302 4v N +2 *9 680 220.0 -220.0
P101 P301 3NS+1 *4 430 394.0 -394.0 J102 J302 4y N +2 *T 680 220.0 -220.0
D102 D302 3N S +1 *6 430 394.0 -394.0 L102 L302 4v S +2 2 680 220.0 -220.0
P103 P303 3N S+ *4 430 394.0 -394.0 D103 D303 4v N +2 *T 680 220.0 -220.0
C1l C201 4v S= a2 420 391.0 -391.0 R103 R303 4v N +2 *T 680 220.0 -220.0
El E201 4v S= +K 420 391.0 -391.0 11 1201 4v S+1 *J 650 172.0 -172.0
02 0202 4v S= a2 420 391.0 -391.0 Q1 Q201 4v N +1 *T 650 172.0 -172.0
03 0203 4y N= *5 420 391.0 -391.0 S1 S201 4v N +1 *T 650 172.0 -172.0
T101 T301 4v S= a2 420 391.0 -391.0 K2 K202 4v N +1 *7 650 172.0 -172.0
D103 D303 4v S= 43 420 391.0 -391.0 D101 D301 4v N +1 *T 650 172.0 -172.0
G3 G203 24 V-3 +9 300 242.0 -242.0 F101 F301 4v S+1 v9 650 172.0 -172.0
11 1201 24DV -1 +5 200 107.0 -107.0 H101 H301 4v N+1 *T 650 172.0 -172.0
A2 A202 2v N +2 aT 170 90.0 -90.0 D102 D302 4v N +1 *6 650 172.0 -172.0
E2 E202 3v S+1 a2 170 90.0 -90.0 H102 H302 4v N +1 *T 650 172.0 -172.0
G2 G202 3v S+1 *4 170 90.0 -90.0 P102 P302 4v N +1 *T 650 172.0 -172.0
13 1203 2v N +2 »2 170 90.0 -90.0 H103 H303 4v N +1 *T 650 172.0 -172.0
R102 R302 2v S +2 a2 170 90.0 -90.0 N103 N303 4v N +1 *6 650 172.0 -172.0
T102 T302 2v S+2 *9 170 90.0 -90.0 P103 P303 4v N +1 *T 650 172.0 -172.0
Gl G201 2v S+1 a2 140 31.0 -31.0 A2 A202 3NN +1 +5 630 120.0 -120.0
S2 S202 2v S+1 46 140 31.0 -31.0 G2 G202 3NN +1 *T 630 120.0 -120.0
A3 A203 3v S= +K 140 31.0 -31.0 C3 C203 3NN +1 *T 630 120.0 -120.0
M3 M203 2v S +1 45 140 31.0 -31.0 Q3 Q203 3NN +1 +6 630 120.0 -120.0
B102 B302 2v S+1 a2 140 31.0 -31.0 F102 F302 3NN +1 *T 630 120.0 -120.0
J102 J302 2v S+1 a2 140 31.0 -31.0 L103 L303 3NN +1 *T 630 120.0 -120.0
E3 E203 4¢ N= vK 130 30.0 -30.0 Al A201 4v S= 43 620 120.0 -120.0
M2 M202 3¢ N= a7 110 -23.0 23.0 C1l C201 4y N= +5 620 120.0 -120.0
D101 D301 3¢ N= 3 110 -23.0 23.0 M1 M201 4v N= 2 620 120.0 -120.0
Al A201 4v N-1 45 -50 -234.0 234.0 12 1202 4v N = *T 620 120.0 -120.0
M1 M201 4v S-1 +K -50 -234.0 234.0 M2 M202 4y S= 3 620 120.0 -120.0
o1 0201 4v N-1 »8 -50 -234.0 234.0 Q2 Q202 4v N= 46 620 120.0 -120.0
Q1 Q201 4v S-1 vA -50 -234.0 234.0 G3 G203 4v N= *T 620 120.0 -120.0
S1 S201 4v S-1 a2 -50 -234.0 234.0 M3 M203 4v N = *T 620 120.0 -120.0
Cc2 C202 4y N-1 a5 -50 -234.0 234.0 S3 S203 4v N= v8 620 120.0 -120.0
12 1202 4v S-1 a2 -50 -234.0 234.0 B101 B301 4y N= *T 620 120.0 -120.0
K2 K202 4v N-1 a7 -50 -234.0 234.0 Ji01 J301 4y N= *T 620 120.0 -120.0
S3 S203 3NS-1 3 -50 -234.0 234.0 L101 L301 4y N= *T 620 120.0 -120.0
F101 F301 4v S-1 43 -50 -234.0 234.0 P101 P301 4y N= *T 620 120.0 -120.0
H101 H301 4v S-1 vA -50 -234.0 234.0 R101 R301 4v N= *T 620 120.0 -120.0
Jio1 J301 4v S-1 vA -50 -234.0 234.0 El E201 3NN= +5 600 79.0 -79.0
L101 L301 4v N-1 a7 -50 -234.0 234.0 T102 T302 3NN-= *T 600 79.0 -79.0
R101 R301 4v N-1 a7 -50 -234.0 234.0 J103 J303 3NN-= +8 600 79.0 -79.0
F102 F302 4v S-1 a2 -50 -234.0 234.0 T103 T303 3NN-= +3 600 79.0 -79.0
H102 H302 4v S-1 a2 -50 -234.0 234.0 o1 0201 2NN +2 *T 180 -418.0 418.0
L102 L302 4v S-1 45 -50 -234.0 234.0 03 0203 2v N +2 +5 170 -422.0 422.0
N102 N302 4v N-1 *8 -50 -234.0 234.0 N101 N301 2v S +2 2 170 -422.0 422.0
P102 P302 3NS-1 a2 -50 -234.0 234.0 N102 N302 2v S +2 43 170 -422.0 422.0
F103 F303 4v N-1 46 -50 -234.0 234.0 F103 F303 2v S +2 *2 170 -422.0 422.0
H103 H303 4v S-1 a2 -50 -234.0 234.0 B103 B303 2v S= 3 110 -478.0 478.0
L103 L303 4v S-1 *4 -50 -234.0 234.0 Gl G201 2NN-1 *T -100 -615.0 615.0
N103 N303 4v S-1 vA -50 -234.0 234.0 K1 K201 3N N-1 *T -100 -615.0 615.0
R103 R303 4v N-1 a7 -50 -234.0 234.0 Cc2 C202 4v S-1 *T -100 -615.0 615.0
T103 T303 4v S-1 a2 -50 -234.0 234.0 02 0202 6v N-1 *T -100 -615.0 615.0
C3 C203 5¢ N-3 45 -150 -367.0 367.0 A3 A203 3N N-1 +5 -100 -615.0 615.0
B103 B303 64 S-3 46 -150 -367.0 367.0 R102 R302 3NN -3 *T -300 -739.0 739.0
J103 J303 5v S-3 a2 -150 -367.0 367.0 E2 E202 3NN -4 *T -400 -762.0 762.0
21 4 K865 Basta kontrakt 22 4107 Basta kontrakt
Nord vE 3y O =-140 Ost v Kn10643 5¢ O =-600
NS ¢ Kn87 ov ¢102
#KKn1092 & ¢ v o N #EKKn2 & ¢ v & NT
« E107 493 N75476 «ED82 4Kn9 N7 2552
vD109832 v76 S75476 vED9 vK75 S72552
+95 + EKD103 057967 ¢ E953 ¢ KDKn64 O6 118 8 9
*43 #E875 V57967 #54 #863 vV 6 118 8 9
& DKn42 » K6543
v KKn54 v 82
4642 ¢ 87
*D6 #D1097
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
B103 B303 24 N +1 ¢ A 140 276.0 -276.0 N101 N301 34 V-1 *A 100 711.0 -711.0
N103 N303 24 N +1 v6 140 276.0 -276.0 03 0203 3¢ O +2 v8 -150 581.0 -581.0
R103 R303 24 N +1 ¢ A 140 276.0 -276.0 M2 M202 24D S -3 5 -500 169.0 -169.0
Al A201 24 N= ¢ A 110 218.0 -218.0 Al A201 3NV = *A -600 2.0 -2.0
C1l C201 2« S= +9 110 218.0 -218.0 C1l C201 3NV = vJ -600 2.0 -2.0
El E201 24 N= 49 110 218.0 -218.0 El E201 3NV = v3 -600 2.0 -2.0
12 1202 24 N = 43 110 218.0 -218.0 Gl G201 3NV= *A -600 2.0 -2.0
02 0202 24 N= v7 110 218.0 -218.0 11 1201 3NV = *A -600 2.0 -2.0
S2 S202 24 N= *K 110 218.0 -218.0 M1 M201 3N O = v2 -600 2.0 -2.0
D101 D301 24 N= ¢ A 110 218.0 -218.0 o1 0201 3NV= *A -600 2.0 -2.0
P101 P301 24 N= ¢ A 110 218.0 -218.0 Q1 Q201 3NV = *K -600 2.0 -2.0
R101 R301 24 N= ¢ A 110 218.0 -218.0 S1 S201 3NV = *A -600 2.0 -2.0
T101 T301 24 N= ¢ A 110 218.0 -218.0 A2 A202 3NO= v3 -600 2.0 -2.0
F102 F302 24 N= *Q 110 218.0 -218.0 G2 G202 3NV = *A -600 2.0 -2.0
J102 J302 24 N= *A 110 218.0 -218.0 12 1202 3NV = *A -600 2.0 -2.0
L102 L302 24 N= ¢ A 110 218.0 -218.0 K2 K202 3NV = *2 -600 2.0 -2.0
N102 N302 24 N= *A 110 218.0 -218.0 02 0202 3NV = v3 -600 2.0 -2.0
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P102 P302 24 N= *A 110 218.0 -218.0 Q2 Q202 3NV= v2 -600 2.0 -2.0
T102 T302 24 N= *A 110 218.0 -218.0 S2 S202 3NV = v4 -600 2.0 -2.0
F103 F303 24 N= *A 110 218.0 -218.0 C3 C203 3NV = &K -600 2.0 -2.0
T103 T303 24 N= *A 110 218.0 -218.0 E3 E203 3NV = v2 -600 2.0 -2.0
03 0203 4v V-1 a5 50 134.0 -134.0 G3 G203 3NV= &A -600 2.0 -2.0
R102 R302 4v V-1 LN 50 134.0 -134.0 13 1203 3NV = &K -600 2.0 -2.0
M2 M202 2¢ O= 2 Q -90 -70.0 70.0 K3 K203 3NV = *A -600 2.0 -2.0
Gl G201 24 N-1 *A -100 -76.0 76.0 M3 M203 3N O = 43 -600 2.0 -2.0
M1 M201 24 N-1 ¢ A -100 -76.0 76.0 Q3 Q203 3NV= v3 -600 2.0 -2.0
o1 0201 34 N-1 *A -100 -76.0 76.0 S3 S203 3NV = vJ] -600 2.0 -2.0
Cc2 C202 24 N-1 *A -100 -76.0 76.0 B101 B301 3NV = *A -600 2.0 -2.0
G2 G202 24 N-1 ¢ A -100 -76.0 76.0 D101 D301 3NV= A -600 2.0 -2.0
K2 K202 24 N-1 *A -100 -76.0 76.0 F101 F301 3NV= v3 -600 2.0 -2.0
Q2 Q202 24 N-1 *A -100 -76.0 76.0 H101 H301 3NV= *A -600 2.0 -2.0
A3 A203 24 N-1 *A -100 -76.0 76.0 J101 J301 3NV= &A -600 2.0 -2.0
C3 C203 34 N-1 *A -100 -76.0 76.0 P101 P301 3NV = *A -600 2.0 -2.0
E3 E203 24 N-1 *A -100 -76.0 76.0 T101 T301 3NV= *A -600 2.0 -2.0
13 1203 24 N-1 ¢ A -100 -76.0 76.0 B102 B302 3NV = &A -600 2.0 -2.0
K3 K203 24 N-1 *A -100 -76.0 76.0 D102 D302 3NV = *A -600 2.0 -2.0
M3 M203 24 N-1 *A -100 -76.0 76.0 F102 F302 3NO= 43 -600 2.0 -2.0
Q3 Q203 24 S-1 +9 -100 -76.0 76.0 H102 H302 3NV = 3 -600 2.0 -2.0
S3 S203 24 N-1 *A -100 -76.0 76.0 J102 J302 3NV = &K -600 2.0 -2.0
F101 F301 24 N-1 + K -100 -76.0 76.0 L102 L302 3NV = *A -600 2.0 -2.0
L101 1301 24 N-1 ¢ A -100 -76.0 76.0 N102 N302 3NV = A -600 2.0 -2.0
D103 D303 34 N-1 *A -100 -76.0 76.0 P102 P302 3NV = v3 -600 2.0 -2.0
J103 J303 24 N-1 *A -100 -76.0 76.0 R102 R302 3NO= *7 -600 2.0 -2.0
P103 P303 24 N-1 *A -100 -76.0 76.0 D103 D303 3NV = A -600 2.0 -2.0
H102 H302 24 O= *A -110 -95.0 95.0 F103 F303 5¢ O= *9 -600 2.0 -2.0
S1 S201 3v O= £Y6) -140 -137.0 137.0 J103 J303 3NV = LY -600 2.0 -2.0
A2 A202 2v V +1 .7 -140 -137.0 137.0 L103 L303 3NV = vJ] -600 2.0 -2.0
B101 B301 3v V= *9 -140 -137.0 137.0 N103 N303 3NV = *A -600 2.0 -2.0
J101 J301 3v V= 46 -140 -137.0 137.0 P103 P303 3NV = *A -600 2.0 -2.0
L103 L303 2v V +1 &T -140 -137.0 137.0 R103 R303 3NV = &A -600 2.0 -2.0
H103 H303 2v O +2 2 -170 -190.0 190.0 T103 T303 3NV = &K -600 2.0 -2.0
11 1201 34 N-2 *A -200 -230.0 230.0 K1 K201 3NV +3 *A -690 -173.0 173.0
K1 K201 34 N-2 ¢ A -200 -230.0 230.0 Cc2 C202 3NV +3 &K -690 -173.0 173.0
Q1 Q201 34 N-2 *A -200 -230.0 230.0 E2 E202 3NV +3 oT -690 -173.0 173.0
G3 G203 34 N-2 v8 -200 -230.0 230.0 A3 A203 3NV +3 *A -690 -173.0 173.0
H101 H301 34 N-2 *A -200 -230.0 230.0 L101 L301 3NV +3 v3 -690 -173.0 173.0
B102 B302 34 N-2 *A -200 -230.0 230.0 R101 R301 3NV +3 &A -690 -173.0 173.0
E2 E202 44 N-3 + K -300 -360.0 360.0 T102 T302 3NV +3 aT -690 -173.0 173.0
N101 N301 44 N-3 *A -300 -360.0 360.0 B103 B303 3NV +3 &A -690 -173.0 173.0
D102 D302 44 N-3 + K -300 -360.0 360.0 H103 H303 3NV +3 &*A -690 -173.0 173.0
23 4952 Bésta kontrakt 24 « KD986 Bésta kontrakt
Syd v 10652 2¢ S =90 Vast v 65 4v V =-420
Alla + E1074 Ingen ¢+ Knl103
£104 & ¢ v & NT &EK9 & ¢ v & NT
4E764 &KKn8 N58767 ~E74 453 N7 43765
vKn974 <ED S58767 v 1098432 vEK7 S743765
+93 ¢ Kn52 0856 76 ¢ E974 + D62 O5 8 106 8
#K83 #Kn9765 V856 65 »- #108743 vV 5 8 106 8
« D103 « Kn102
v K83 v DKn
+ KD86 + K85
#ED2 #DKn652
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang
S2 S202 1IN S +2 v4 150 117.0 -117.0 M3 M203 5#D O -4 vQ 800 799.0 -799.0
A3 A203 1IN S +2 v7 150 117.0 -117.0 D102 D302 34 N+1 vA 170 355.0 -355.0
K3 K203 1IN S +2 46 150 117.0 -117.0 N102 N302 24 N +2 vA 170 355.0 -355.0
D101 D301 INS+2 v4 150 117.0 -117.0 D103 D303 34 N +1 vA 170 355.0 -355.0
N103 N303 1IN S +2 3 150 117.0 -117.0 P103 P303 24 N +2 vA 170 355.0 -355.0
R103 R303 1IN S +2 v4 150 117.0 -117.0 S1 S201 24 N+1 vA 140 308.0 -308.0
o1 0201 INS+1 v7 120 65.0 -65.0 A2 A202 34 N= vA 140 308.0 -308.0
S1 S201 INS+1 Ly 120 65.0 -65.0 G2 G202 24 N+1 vA 140 308.0 -308.0
12 1202 IN S +1 v7 120 65.0 -65.0 A3 A203 34 N= vA 140 308.0 -308.0
M2 M202 1IN S +1 v4 120 65.0 -65.0 13 1203 24 N +1 vA 140 308.0 -308.0
Q2 Q202 INS+1 a4 120 65.0 -65.0 S3 S203 34 N= vA 140 308.0 -308.0
E3 E203 INS+1 v7 120 65.0 -65.0 N101 N301 34 N= vA 140 308.0 -308.0
G3 G203 INS+1 v4 120 65.0 -65.0 J102 J302 34 N= vA 140 308.0 -308.0
13 1203 IN S +1 3 120 65.0 -65.0 J103 J303 24 N +1 vA 140 308.0 -308.0
M3 M203 1IN S +1 46 120 65.0 -65.0 L103 L303 34 N= vA 140 308.0 -308.0
03 0203 INS+1 46 120 65.0 -65.0 N103 N303 24 N +1 vA 140 308.0 -308.0
N101 N301 INS+1 v7 120 65.0 -65.0 B102 B302 5vDV-1 A 100 268.0 -268.0
P101 P301 INS+1 v4 120 65.0 -65.0 F102 F302 4vDO-1 L)) 100 268.0 -268.0
R101 R301 INS+1 v7 120 65.0 -65.0 Gl G201 24 N-1 »7 -50 74.0 -74.0
T101 T301 INS+1 46 120 65.0 -65.0 o1 0201 INS-1 vT -50 74.0 -74.0
D102 D302 INS+1 v4 120 65.0 -65.0 K2 K202 34 N-1 vA -50 74.0 -74.0
H102 H302 INS+1 v4 120 65.0 -65.0 S2 S202 34 N-1 vK -50 74.0 -74.0
L102 L302 INS+1 v7 120 65.0 -65.0 F101 F301 3NN-1 3 -50 74.0 -74.0
B103 B303 INS+1 v7 120 65.0 -65.0 J101 J301 34 N-1 vA -50 74.0 -74.0
D103 D303 INS+1 v7 120 65.0 -65.0 L101 L301 24 N-1 *3 -50 74.0 -74.0
F103 F303 INS+1 46 120 65.0 -65.0 P101 P301 34 N-1 vA -50 74.0 -74.0
H103 H303 1INS+1 v4 120 65.0 -65.0 L102 L302 24 N-1 *6 -50 74.0 -74.0
P103 P303 INS+1 +9 120 65.0 -65.0 F103 F303 34 N-1 vA -50 74.0 -74.0
Q1 Q201 2¢ S+1 +9 110 57.0 -57.0 K1 K201 44 N-2 vA -100 -8.0 8.0
C1 C201 INS= v4 90 5.0 -5.0 M2 M202 34 N -2 vA -100 -8.0 8.0
El E201 2¢ S= *3 90 5.0 -5.0 Q2 Q202 INS-2 v3 -100 -8.0 8.0
Gl G201 INS= v4 90 5.0 -5.0 03 0203 34 N-2 vA -100 -8.0 8.0
K1 K201 INS= v7 90 5.0 -5.0 D101 D301 INS-2 *T -100 -8.0 8.0
M1 M201 INS= v2 90 5.0 -5.0 H101 H301 34 N-2 vA -100 -8.0 8.0
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